
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
                  
       
                   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

PARTS CATALOGUE 
RESERVDELS KATALOG 
ERSATZTEIL KATALOG 
CATALOGUE DE PIECES

SERIES 

4TNV84T-GGE

Y
anm

ar 4tnv84t G
ge E

ngine P
arts C

atalog
Full dow

nload: http://m
anualplace.com

/dow
nload/yanm

ar-4tnv84t-gge-engine-parts-catalog/

T
his is the cut pages sam

ple. D
ow

nload all 40 page(s) at: M
anualP

lace.com

http://manualplace.com/product/yanmar-4tnv84t-gge-engine-parts-catalog/


                  
                  
                  

       CONTENTS        
                
Fig.No.  GROUP  NAME  
                
ENGINE SECTION   
 

1. CYLINDER BLOCK 
2. GEAR HOUSING 4TNV84T-DSA,DSA2,DSA3  
3. GEAR HOUSING 4TNV84T-GGE 
4. FLYWHEEL HOUSING & OIL SUMP 
5. CYLINDER HEAD & BONNET 
6. SUCTION MANIFOLD 
7. EXHAUST MANIFOLD  
8. CAMSHAFT & DRIVING GEAR 
9. TURBINE 
10. CRANKSAHFT & PISTON 
11. LUB.OIL SYSTEM 
12. LUB OIL LINE 
13. COOLING WATER SYSTEM 
14. FUEL INJECTION PUMP 4TNV84T-DSA,DSA2,DSA3 
15. FUEL INJECTION PUMP 4TNV84T- GGE 
16. FUEL INJECTION VALVE 4TNV84T-DSA,DSA2,DSA3 
17. FUEL INJECTION VALVE 4TNV84T- GGE 
18. FUEL LINE 
19. STARTING MOTOR 4TNV84T-DSA,DSA2,DSA3 
20. STARTING MOTOR 4TNV84T- GGE 
21. GENERATOR 
22. GASKET SET 
23. FUEL INJECTION PUMP (INNER PARTS) 4TNV84T-DSA,DSA2,DSA3 
24. GOVERNOR (INNER PARTS) 4TNV84T-DSA,DSA2,DSA3 
25. FUEL INJECTION PUMP (INNER PARTS) 4TNV84T- GGE 
26. GOVERNOR (INNER PARTS) 4TNV84T- GGE    

Model : 4TNV84T-GGE 



Fig.1.  CYLINDER BLOCK
Y00R5650

Remarks
(1) UNDER-SIZE(U.S=0.25)PART.
(2) OVER-SIZE(O.S=0.25)PART.
(3) REPAIR PART.

Y00R5650 1.  CYLINDER BLOCK

(F)=
(E)=
(D)=4TNV84T-GGE

(C)=4TNV84T-DSA3
(B)=4TNV84T-DSA2
(A)=4TNV84T-DSA

LEV.REF. PARTS NO. DESCRIPTION RIQ'TY
(F)(D)(C)(B)(A) (E)

BLOCK ASSY, CYLINDER729508-0156011 1111
PLUG PT1/4124160-0191025 2222
PLUG171051-0192126 1111
BOLT, METAL CAP129150-0202027 10101010
PLUG PT1/8124060-01050210 1111
PLUG 50129001-01250211 1111
PLUG 1227241-120000212 2222
PLUG 3027241-300000213 8888
BUSH, CAMSHAFT129795-02411214 1111
PLUG PT1/4124160-01910215 1111

3MAIN BEARING SET129001-02930225 5555
METAL, THRUST129150-02930228 2222
STUD, CYL. HEAD129150-01200131 18181818
GASKET, HEAD129508-01330132 1111
SPACER129004-01190133 1111

1MAIN METAL US=0.25129150-02870134 5555
2METAL,THRUST.25(2PIE129150-02940137 1111

(C)Copy Rights  YANMAR CO.,LTD and YANMAR AGRICULTURAL EQUIPMENT CO.,LTD.



Fig.2.  GEAR HOUSING
Y00R5650

Remarks
(1) OPTIONAL PART.

Y00R5650 2.  GEAR HOUSING

(F)=
(E)=
(D)=4TNV84T-GGE

(C)=4TNV84T-DSA3
(B)=4TNV84T-DSA2
(A)=4TNV84T-DSA

LEV.REF. PARTS NO. DESCRIPTION RIQ'TY
(F)(D)(C)(B)(A) (E)

GEAR CASE ASSY729508-0152011 111
PLUG PT3/8,SCREW23876-03000024 111
PLUG PT 1/223876-04000025 111
SEAL, OIL129795-0180026 111
COVER ASSY, PUMP119802-3210017 111
COVER, LUB.OIL PUMP119802-3207028 111
VALVE, RELIEF129900-3213029 111
SPRING129418-32320210 111
PLUG129001-32330211 111
FLANGE, GEAR CASE129005-01520112 111
STUD, M8X25119802-01560113 333
COVER,FILLER124160-01751114 111
COVER, HO-P124240-01871115 111
PIPE, KNOCK L=18129795-01950116 222
O-RING P16119609-32040117 444
ROTOR, INNER129508-32111118 111
ROTOR, OUTER129508-32120119 111
SCREW, M6X16119802-32130120 777
O-RING, F.I.PUMP121850-51960121 111
BOLT M 8X 85 PLATED129001-91841122 333
O-RING 1A P-32.024311-000320123 111
BOLT M 8X 16 PLATED26106-080162124 444
BOLT M 8X 16 PLATED26106-080162125 333
BOLT M 8X 55 PLATED26106-080552126 111111
NUT26306-080002127 333
COVER, BLIND121023-01550128 111
O-RING 1A S-24.024341-000240129 111
BOLT M 6X 16 PLATED26106-060162130 222

1GASKET, LIQUID977770-01212131 111
COVER, HO-P124240-01871132 111
GASKET, (NON-ASB.)124240-01883133 111
BOLT M 8X 16 PLATED26106-080162134 444

(C)Copy Rights  YANMAR CO.,LTD and YANMAR AGRICULTURAL EQUIPMENT CO.,LTD.

Yanmar 4tnv84t Gge Engine Parts Catalog
Full download: http://manualplace.com/download/yanmar-4tnv84t-gge-engine-parts-catalog/

This is the cut pages sample. Download all 40 page(s) at: ManualPlace.com

http://manualplace.com/product/yanmar-4tnv84t-gge-engine-parts-catalog/

